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|[Max. Marks : 70

(1)  What is ‘Accounting Standard’ ? State its importance.

(2)

Chartered Accounts of India on ‘Revenue Recognition™,

(3)
AS 2) consisted of :
Material cost
Direct labour cost

Vanable production overheads

T 150 per kg
< 50 per kg

< 20 per kg

14

Write a detail note on Accounting Standard No. 9 issued by the Institute of

How will you value the inventory per kg of finished goods (with reference to

Fixed production charges for the year.on normmal capacity of one lakh kgs is
< 10 lakhs. 5000 kgs of finished goods areiin stock @t the year end.

(4)
(A)
(B)

Answer the following questions keeping in view the provisions of ¥ 16.
Which items are included in Borrowing Cost ?
What is Qualifying Assets ? Give examples of qualifying assets.

From the following particulars furished by Star Limited, prepare the Balance Sheet as
at 31* March. 2014 as fequired by schedule VI of the Companies Act. Give Foot notes

to the Balance Sheet if necessary : 14
ir! Debit Balances 3 Credit Balances ¥
| Call in Arrears 2,000 | Equity Capital 20.00.000
' Land 4.00.000 | (Face value of ¥ 100)
| Building 7.00.000 | General Reserve | 4.20.000
EPIEIﬂEI]‘IdM&Chil‘ICT)’ 10.50,000 | Loan from State Financial
Furniture 1.00,000 | Corporation 3.00,000
f Slock ¢ Provision for Taxation 1.36,000
' Finisl'ted Goods 4.00.000 Proposed Dividend 1,20,000
' Raw materials  1.00.000 | 5.00,000 Profit & Loss Account 2.00,000
Sundry Debtors 4.00,000 | Loans (unsecured) 2.42.000
| Adv ryces | 85.400 | Sundry Creditors (for goods
Ca;har;alance 60,000 | and expenses) 400,000
' Cash at Bank 4.22,23(0)
eliminary expenses 20, -
! - K 4_38‘,.131.,000 38,138,000
g -

24



Addiﬁunal lnfnrmatiuns :

(1) Miscel
a ;
v e“‘"“jus “Xpenses includes ¥ 10.000 Audit fees and 2 1.400 for out of
XPenses paid to the Ayd itors,

(2) 4000 Equ;
(3)  Debto ':1;“}’ Sh'm'“ were issued for consideration other than cash.
rs X 1,04,000 are due for more than six months.

(4) Cﬂst of
Assets were as under — Building 2 '
‘ - 2 < 8.00.000, r
% 14,00,000. Fy iture € 1.25.000, ilding 000, Plant & Machinery

(5) T .
W}l:?c}t:al!:n;e ﬂi;;' i.OU*UUG In the loan Account with state Finance Corporation,
. ccur Yy Hypothecation of Plant and Machinery includes ¥ 45.000
Interest Accrued but not due. }’

(7) Bﬁ"S Receivable for T 5.50.000 Maturing on 30" June, 2014 have been
discounted.

(8) Tl"lf: Company had contract for the erection of Machinery at T 3.00.000 which is
still incomplete.
OR

(A) Calculate the managerial remuneration from the following particulars of Sabar
Ltd. Payable to the Managing Director of the company at the rate of 5% of the

19

Profits. Also determine the excess remunerationpaid if any. 7
Net Profit ¥ 2,40,000
Net Profit has been calculated after considering the following :
(1) Depreciation ?  48.000
(2) Directors fees X 9,600
(3) Preliminary expenseés < 12,000
(4) Tax provision Z 3.72.000
(5) Bonus ?  18.000
(6) Profit on sales of fixed assets
(original cost.¥ 24,000 and written down value ¥ 13,200) ¢ 18.600
(7) Provision for doubtful Debts Z 10.800
(8). Secientific research expenditure (for setting up new machinery) ¥ 24,000
(9). Managing Director’s remuneration paid Z 36,000
Other Information :
(1) _Depreciation allowable under schedule X1V of companies Act T 42.000
(2) Bonus liability as per payment of Bonus Act ¥ 21,600
(B) Answer any (wo: ‘
(1) - Write short notes on *Evaluation of internal Audit system.
(2) Explain Auditors Responsibility in regard to subsequent events.
(3) Explain Managerial remuneration payable by company having profits.
P.T.O.

lﬁi.;i,-ﬂ" 25



(C) Answer in one or two lines only.
(1) What is interim dividend ?
(2) Give two examples of loan and advances 7

(3) Mention the sources of declaring dividend under provision of Companies
Act 1956.

M/s. Neelkanth Traders are dealers of Mobiles. They are selling mobiles on hire
purchase only the following information has been available from his books for the

accounting year 2013-14. 14
L 4
1-4-2013 Opening stock at the shop 75,000
Instalments not due 1,25,000
" Instalments due but not received 12,500
During the year 2013-14 the following transactionstook place :
Purchase of Mobiles 7.50,000
Instalments received from the customers 6,50,000
Mobiles repossessed from the customers 37,500
(On which unpaid instalements were ¥ 62,500)
31-3-2014 Instalments not due. 3,75,000
Instalments due but not received 1.00,000

The firm is selling its goods at a profit of 50% on hire purchase price.
You are required to find out profit on hire purchase business as per the stock and
debtors method.
OR
(A) Vijay Limited commenced business on 1-4-2013 and gives you the following
. formation for the year ended 31% March, 2014 7

(1) Total purchase and general sales for the year respectively amounted to
2 3.60,000 and ¥ 3.40,000. General stock on 31-3-14 amounted to ¥ 60,000.

(2) - Two items were sold on hire purchase terms of which the details are given

below : 2
Cnmmodity‘ Cost I Down | No. of further Total
| payment at instalments instalments |
the time of |  per unit | falling due
| contract | (Excluding
| 10 0 lGewo) @ dewpaeel)
[tem A 20 units xT 150 | T30 6 of X 30 200
Item B 80 units X T 400 ¥80 | 80of¥80 | 120

 Instalments due in 2013-14 were all received prepare Hire purchase Trading
Account and General Trading Account for the year ended 31* March, 2014.

26



(B) Write ip brief any two of the
(1) Explain fi '
3 (2 ;

following :

| Explain any two difficulties of leasi
(3) Give details
“under Hire P

g company in India.

of any two points/varia

bles to be included in the agreement
urchase systen.

only,
(1) Who s legal owner of the asset under instalment method ©
2
(2) State vVarious methods of determining profit under Hire purchase
(3) iati

14

(1) Opening Stock

Containers on Hand

3570

Containers with customers 1785

(2) . Containers purchased at T 350 during the year 2013-14 6720
(3) . Containers sentto customers during the year 10500
(4)  Containers returned by customers during the year 5880
(5)  Containers rétained by the customers during the year 5040
(6) Containers scrapped and sold at ¥ 112.50 252
(7) Containers lost in an accident. ' 63

OR
(A) Khushi Traders had the stock of 1000 boxes valued at T 10 each as on 1-4-2013.

. During the year firm pufchased new 1500 boxes at T 18. Firm sent 2200 boxes to

b customers during the year and received back from customers 2000 boxes. 20
boxes of opening stock were damaged of which 12 boxes were repaired at a cost
of < 5 per box.

- The closing stock was valued at ¥ 10 after providing for dePreciation'.l From the
| -abﬂ_ve information prepare boxes stock Account

27
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(B) From the following information calculate closing stock of containers with

customers and firm of year 2013-14. 4

Particulars Nos.
(1)  Purchased during the year 78,000
(2)  Containers sent out during the year 1,40,400
(3)  Containers returned by customer. 93,600
(4)  Containers retained by customer 35,100
(5)  Containers in hand (1-4-13) 46,800
(6)  Containers with customers (1-4-13) 31,200

(C) Answer in one or two lines only. 3

(1) How to calculate consumption of containers ?
(2) What is charging out price ?
(3) What is main objective of preparation of container Stock Aceount ?

5.  Select the most appropriate answer from the alternatives. 14

(1)

(2)

(3)

(4)

Government grants in the form of non-monetary assets should be
(A) Credited to capital A/C.

(B) Transferred to profit and loss account A/C.

(C) Deducted from the cost of acquisition of assets.

(D) None of the above.

As per the , grant réceived by organizations is considered as capital
receipt and credited to shareholder fund.

(A) Capital approach

(B) Income approach

(C) Both of the above

(D) None of the above

Which of the following should not be included in the cost of inventories as per
AS27"

(A) Abnormal amounts of wasted materials

(B) Freight inward

(C) Cost to bring the inventory to their present location and conditions

(D) None of the above

A Private Company must be requisite with a minimum share capital of

(A) %1,00,000

(B) ¥ 5,00,000
(C) ¥10,00,000
(D) None of the above

28



(3)

(6)

(7)

(8)

(9)

(10)

Compan
Y can char e : .
(A) 109 P.a. S€ Maximum interest op calls in arrears at

(B) 6% p.a.
(C) 359 p.a.
(D) None of the above

Any MONey transferreq to

unclaimed for 4 Sl e sethe unpaid dividend account remain unpaid or

Ven years from the date of such transfer shall be

(C) Investor Education and Protection Fund
(D) None of the above

What is Hire purchase debtors 2

(A) Due but not received amount.
(B) Not due and not received amount.
(C) Due and received amount

(D) None of the above.

Which of the following statement is correét with respect to hire purchase method ?
(A) Depreciation is calculated on the cash price.

(B) Depreciation is calculated on the contract price.

(C) Depreciation is calculated on the market price.

(D) None of the above.

When goods sold on Hire purchase are repossessed, how much amount is debited

to Goods repossessed Account ?
(A)' Amount received from the customer.

(B) Amount due but not received from the customer.
(C) . Amount not received on the goods sold.

(D). None of the above.

Which of the following statements, is correct with respect to Hire Purchase ?
(A) Hire purchase price = cash price — interest.

(B) Cash price = Hire purchase price + interest.

(C) Hire purchase price = Down payment + instalments.

(D) None of the above. " P.T.O.



(11) Provision of maximum rate of managerial remuneration payable are applicable to

(A) All Private Companies
(B) All Public Companies
(C) All Companies
(D) None of the above

(12) The amount spent on repair is normally increases cost of packages and hence 1t 18
debited to |

(A) Container Trading A/c.

(B) Container Stock Alc.
(C) Container suspense A/c.

(D) None of the above.

(13) In case of Stock and Tfading method which of the following accounts are
prepared
(A) Container Stock Alc.
(B) Container Trading A/c.
(C) Both of above (A) & (B)
(D) None of the above

(14) Container retained by, customer is shown on side of container stock
" account undef stock and suspense method.
(A) Debit side
(B) Creditside |
(C) Notshown in Account
“(D) Noneof the above




